Welland Gouldsmith School
Class 1
Arithmetic

Problem Sums based on Subtraction

Answer Key :
1)
T o
Number of Dolls 4 5
Emily had

Number of dolls she | -1 2

gave her sister

Number of dolls left 3 3
Ans : Emily had 33 dolls left.

2)
T 0]
Number of apple 2 4
trees
Number of apple -1 1
trees cut down
Number of apple 1 3
trees left
Ans : There were 13 apple trees left.
3)
H T 0]
Number of 4 5 0
fishes caught
Number of -2 2 0
fishes sold
Number of 2 3 0
fishes
remaining
Ans: There are 230 fishes remaining.
4)



Number of 6 7 0
roses in the
garden

Number of -3 7 0
roses Sam
picked

Number of 3 0 0
roses
remaining

Ans: There are 300 roses remaining in the garden.



